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Each of the following systems has a solution.  Determine the solution to the system by eliminating 
one of the variables. 

1.  ቊ
 𝑦 = −4𝑥 + 6
 2𝑥 − 𝑦 = 11

2.  ൝
 
ଵ

ଶ
𝑥 + 5 = 𝑦

 2𝑥 + 𝑦 = 1
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Each of the following systems has a solution.  Determine the solution to the system by eliminating 
one of the variables. 

1.  ቊ
 𝑦 = −4𝑥 + 6
 2𝑥 − 𝑦 = 11

2𝑥 − (−4𝑥 + 6) = 11

2𝑥 + 4𝑥 − 6 = 11
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2.  ൝
 
ଵ

ଶ
𝑥 + 5 = 𝑦

 2𝑥 + 𝑦 = 1

2𝑥 +
1

2
𝑥 + 5 = 1

5

2
𝑥 + 5 = 1

5

2
𝑥 = −4

𝑥 = −
8

5

𝑦 = −4
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6
+ 6
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34

3
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The solution is ଵ଻

଺
, −

ଵ଺

ଷ
.

2 −
8

5
+ 𝑦 = 1

−
16

5
+ 𝑦 = 1

𝑦 =
21
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The solution is −
଼

ହ
,

ଶଵ

ହ
.


